

SPB
DATE: _____

12th MATHS (Answer Key) THIROVALLUR

DISTRICT.

I

1)	(a)	$(A^T)^2$
2	(d)	1
3.	(a)	$\frac{-1}{i+2}$
4.	(d)	1
5.	(d)	0
6.	(d)	-4
7.	(b)	$-\frac{9}{y}$
8.	(b)	always consistent
9.	(b)	3
10.	(b)	i, ii, iv

A. RAVICHANDRAN
PGI Asst
MATHS
(KAVIRAJ COACHING
CENTRE)

(b) $\sigma_1, \sigma_2, \sigma_3$ $\sigma_1 > \sigma_2 > \sigma_3$
2014

II

11. A is a non-singular matrix of odd order

$|A| \neq 0$, $2m+1$ where $m=0,1,2, \dots$

A $\sigma_1, \sigma_2, \dots, \sigma_{2m+1}$ $\sigma_1 > \sigma_2 > \dots > \sigma_{2m+1}$
 $|A| \neq 0$, $2m+1$, $m=0,1,2, \dots$

\therefore $|adj A| = |A|^{2m+1-1}$
 $= |A|^{2m}$

$|A|^{2m}$ $\sigma_1, \sigma_2, \dots, \sigma_{2m+1}$ $\sigma_1 > \sigma_2 > \dots > \sigma_{2m+1}$
 $|adj A|$ $\sigma_1, \sigma_2, \dots, \sigma_{2m+1}$ $\sigma_1 > \sigma_2 > \dots > \sigma_{2m+1}$

$\therefore |A|^{2m}$ is always positive
 $|adj A|$ is positive.

Prepared by : A. RAVICHANDRAN
PGI Asst. Maths
Kaviraj coaching
centre

$$12. \quad A^{-1} = \frac{1}{|A|} (\text{adj}A)$$

$$= \frac{1}{2} \begin{bmatrix} -3 & -4 \\ -1 & -2 \end{bmatrix}$$

$$13. \quad Z = 5 - 2i, \quad W = -1 + 3i$$

$$(Z+W)^2 = (4+i)^2 = 16 + i^2 + 8i = 15 + 8i$$

$$14. \quad (x_1 + iy_1)(x_2 + iy_2)(x_3 + iy_3) \dots (x_n + iy_n) = a + ib$$

Example 10.6 of 10.5

Taking modulus on b/s.

$$|x_1 + iy_1| |x_2 + iy_2| |x_3 + iy_3| \dots |x_n + iy_n| = |a + ib|$$

$$(\sqrt{x_1^2 + y_1^2})(\sqrt{x_2^2 + y_2^2}) \dots (\sqrt{x_n^2 + y_n^2}) = \sqrt{a^2 + b^2}$$

squaring on b/s

Example 2.1.6 of 2.1.5

$$(x_1^2 + y_1^2)(x_2^2 + y_2^2)(x_3^2 + y_3^2) \dots (x_n^2 + y_n^2) = a^2 + b^2$$

Proof by induction.

Hence proved

15. $(2 - \sqrt{3}i)$ is one root, another root is $(2 + \sqrt{3}i)$ conjugate root.

$(2 - \sqrt{3}i)$ is one root, another root is $2 + \sqrt{3}i$

$$x^2 - (S.R)x + P.R = 0$$

$$x^2 - (4.5)x + 7 = 0$$

$$x^2 - 4x + 7 = 0.$$

$$S.R = 2 + \sqrt{3}i + 2 - \sqrt{3}i$$

$$= 4$$

$$P.R = 4 - (i\sqrt{3})^2$$

$$= 4 - 3i^2$$

$$= 4 + 3$$

$$= 7$$

Prepared by : A. Ravichandran
Dr. Asst Maths

$$\begin{aligned}
 16. \quad 1^{\circ} + 2^{\circ} + 3^{\circ} + \dots + 40^{\circ} &= \frac{40(40+1)}{2} \\
 &= \frac{20 \times 41}{1} \\
 &= 820 \\
 &= 4(205) \\
 &= 1.
 \end{aligned}$$

$$\begin{array}{r}
 225 \\
 4 \overline{) 820} \\
 \underline{8} \\
 0
 \end{array}$$

III

Prepared by
A. Ravichandran
PG Asst. Maths

$$17. \quad A = \begin{bmatrix} 3 & -8 & 5 & 2 \\ 2 & -5 & 1 & 4 \\ -1 & 2 & 3 & -2 \end{bmatrix}$$

$$\begin{array}{l}
 \xrightarrow{R_1 \leftrightarrow R_3} \\
 \left[\begin{array}{cccc} -1 & 2 & 3 & -2 \\ 2 & -5 & 1 & 4 \\ 3 & -8 & 5 & 2 \end{array} \right]
 \end{array}$$

$$\begin{array}{cccc}
 3 & -8 & 5 & 2 \\
 -3 & 6 & 9 & -6 \\
 0 & -2 & 14 & -4
 \end{array}$$

$$\begin{array}{l}
 \xrightarrow{R_2 \rightarrow R_2 + R_1} \\
 \xrightarrow{R_3 \rightarrow R_3 + 3R_1} \\
 \left[\begin{array}{cccc} -1 & 2 & 3 & -2 \\ 0 & -1 & 7 & 0 \\ 0 & -2 & 14 & -4 \end{array} \right]
 \end{array}$$

$$\begin{array}{cccc}
 2 & -5 & 1 & 4 \\
 -2 & 4 & 6 & -4 \\
 0 & -1 & 7 & 0
 \end{array}$$

$$\begin{array}{l}
 \xrightarrow{R_3 \rightarrow R_3 - 2R_2} \\
 \left[\begin{array}{cccc} -1 & 2 & 3 & -2 \\ 0 & -1 & 7 & 0 \\ 0 & 0 & 0 & -4 \end{array} \right]
 \end{array}$$

$$\begin{array}{cccc}
 0 & -2 & 14 & -4 \\
 0 & -2 & 14 & 0 \\
 \hline
 0 & 0 & 0 & -4
 \end{array}$$

$$P(A) = 3.$$

$$18. \quad |\text{adj} A| = -36 + 72 = 36$$

$$\sqrt{|\text{adj} A|} = \sqrt{36} = \pm 6$$

$$\begin{aligned}
 A^{-1} &= \pm \frac{1}{\sqrt{|\text{adj} A|}} (\text{adj} A) \\
 &= \pm \frac{1}{6} \begin{pmatrix} 0 & -2 & 0 \\ 6 & 2 & -6 \\ -3 & 0 & 6 \end{pmatrix}
 \end{aligned}$$



19.

A சமன்பாடு தீர்மானம் கொண்டது
A is ~~non~~ singular matrix

$$|A| = 0$$

$$A = \begin{pmatrix} 4 & -3 & -1 \\ 2 & 4 & a \\ 3 & -5 & -4 \end{pmatrix}$$

$$\begin{vmatrix} 4 & -3 & -1 \\ 2 & 4 & a \\ 3 & -5 & -4 \end{vmatrix} = 0$$

$$(-64 - 9a + 10) - (-12 - 20a + 24) = 0$$

$$-54 - 9a - 12 + 20a = 0$$

$$11a = 66$$

$$a = \frac{66}{11}$$

Prepared by,
A. Ravichandran
PG Asst. Maths.

$$a = 6$$

20. $z_1 = \sqrt{3} + i, z_2 = \sqrt{2} + i\sqrt{2}, z_3 = 1 + i\sqrt{3}$

Question

$$\begin{aligned} |z_1 - z_2| &= |\sqrt{3} + i - \sqrt{2} - i\sqrt{2}| \\ &= |(\sqrt{3} - \sqrt{2}) + i(1 - \sqrt{2})| \\ &= \sqrt{(\sqrt{3} - \sqrt{2})^2 + (1 - \sqrt{2})^2} \\ &= \sqrt{3 + 2 - 2\sqrt{6} + 1 + 2 - 2\sqrt{2}} \\ &= \sqrt{8 - 2\sqrt{6} - 2\sqrt{2}} \end{aligned}$$

$$\begin{aligned} |z_2 - z_3| &= |\sqrt{2} + i\sqrt{2} - 1 - i\sqrt{3}| \\ &= |(\sqrt{2} - 1) + i(\sqrt{2} - \sqrt{3})| \\ &= \sqrt{(\sqrt{2} - 1)^2 + (\sqrt{2} - \sqrt{3})^2} \\ &= \sqrt{2 + 1 - 2\sqrt{2} + 2 + 3 - 2\sqrt{6}} \\ &= \sqrt{8 - 2\sqrt{2} - 2\sqrt{6}} \end{aligned}$$

$$\begin{aligned} |z_3 - z_1| &= |(1 + i\sqrt{3} - \sqrt{3} - i)| \\ &= |(1 - \sqrt{3}) + i(\sqrt{3} - 1)| \\ &= \sqrt{(1 - \sqrt{3})^2 + (\sqrt{3} - 1)^2} \\ &= \sqrt{1 + 3 - 2\sqrt{3} + 3 + 1 - 2\sqrt{3}} \\ &= \sqrt{8 - 4\sqrt{3}} \end{aligned}$$

$$21. P(x) = 9x^9 + 2x^5 - x^4 - 7x^2 + 2$$

$$+ \quad + \quad - \quad - \quad +$$

$$P(-x) = -9x^9 - 2x^5 - x^4 - 7x^2 + 2$$

$$- \quad - \quad - \quad - \quad +$$

$$2 + 1 = 3$$

$$9 - 3 = 6.$$

∴ At least 6 imaginary roots.

22. Sol:

$$\begin{aligned} |6-8i| &= \sqrt{36+64} \\ &= \sqrt{100} \\ &= 10 \end{aligned}$$

2. \mathbb{C} Enaite

Applying sq. root formula.

$$\begin{aligned} \sqrt{6-8i} &= \pm \left(\sqrt{\frac{10+6}{2}} - i \sqrt{\frac{10-6}{2}} \right) \\ &= \pm \left(\sqrt{\frac{16}{2}} - i \sqrt{\frac{4}{2}} \right) \\ &= \pm (2\sqrt{2} - i\sqrt{2}) \end{aligned}$$

Prepared by
A. Ravichandran
PG Asst Maths

23(a) Sol:

$$3x - y + 2z = 8$$

$$x + y + z = 2$$

$$2x + y - z = -1$$

$$\Delta = \begin{vmatrix} 3 & -1 & 2 & | & 3 & -1 \\ 1 & 1 & 1 & | & 1 & 1 \\ 2 & 1 & -1 & | & 2 & 1 \end{vmatrix}$$

$$= (-3 - 2 + 2) - (4 + 3 + 1)$$

$$= -3 - 8$$

$$= -11$$

$$\neq 0$$

Cramer's rule is applicable

சீர்தரணம் உள்ளது பயன்படுத்தலாம்.

$$\Delta_1 = \begin{vmatrix} 8 & -1 & 2 & | & 8 & -1 \\ 2 & 1 & 1 & | & 2 & 1 \\ -1 & 1 & -1 & | & -1 & 1 \end{vmatrix}$$

$$= (-8 + 1 + 4) - (-2 + 8 + 2)$$

$$= -3 - 8$$

$$= -11$$

$$\Delta_2 = \begin{vmatrix} 3 & 8 & 2 & | & 3 & 8 \\ 1 & 2 & 1 & | & 1 & 2 \\ 2 & -1 & -1 & | & 2 & -1 \end{vmatrix}$$

$$= (-6 + 16 - 2) - (8 - 3 - 8)$$

$$= 8 + 3$$

$$= 11$$

$$\Delta_3 = \begin{vmatrix} 3 & -1 & 8 & | & 3 & -1 \\ 1 & 1 & 2 & | & 1 & 1 \\ 2 & 1 & -1 & | & 2 & 1 \end{vmatrix}$$

$$= (-3 - 4 + 8) - (16 + 6 + 1)$$

$$= 1 - 23$$

$$= -22$$

$$x = \frac{\Delta_1}{\Delta} = \frac{-11}{-11} = 1 ; \quad y = \frac{\Delta_2}{\Delta} = \frac{11}{-11} = -1$$

$$z = \frac{\Delta_3}{\Delta} = \frac{-22}{-11} = 2$$

SPB

DATE:

23(b)

$$F(\alpha) = \begin{bmatrix} \cos \alpha & 0 & \sin \alpha \\ 0 & 1 & 0 \\ -\sin \alpha & 0 & \cos \alpha \end{bmatrix}$$

$$P.T: (F(\alpha))^{-1} = F(-\alpha)$$

Sol:

$$\underline{\text{LHS:}} (F(\alpha))^{-1} = \frac{1}{|F(\alpha)|} \text{adj } F(\alpha)$$

$$\begin{aligned} |F(\alpha)| &= \cos^2 \alpha - 0 + \sin^2 \alpha \\ &= 1 \\ &\neq 0 \end{aligned}$$

$\therefore (F(\alpha))^{-1}$ exists

$(F(\alpha))^{-1}$ \Rightarrow $\frac{1}{\text{Determinant}}$ \times $\begin{pmatrix} \text{Minor} \\ \text{Element}$ $\end{pmatrix}$ \Rightarrow $\begin{pmatrix} \text{Minor} \\ \text{Element}$ $\end{pmatrix}$

$$\text{adj } F(\alpha) = \begin{bmatrix} \cos \alpha & 0 & -\sin \alpha \\ 0 & 1 & 0 \\ +\sin \alpha & 0 & \cos \alpha \end{bmatrix}$$

$$(F(\alpha))^{-1} = \frac{1}{1} \begin{bmatrix} \cos \alpha & 0 & -\sin \alpha \\ 0 & 1 & 0 \\ \sin \alpha & 0 & \cos \alpha \end{bmatrix}$$

$$= \begin{bmatrix} \cos \alpha & 0 & -\sin \alpha \\ 0 & 1 & 0 \\ \sin \alpha & 0 & \cos \alpha \end{bmatrix} \rightarrow \textcircled{1}$$

RHS:

$$F(-\alpha) = \begin{bmatrix} \cos(-\alpha) & 0 & \sin(-\alpha) \\ 0 & 1 & 0 \\ -\sin(-\alpha) & 0 & \cos(-\alpha) \end{bmatrix}$$

$$= \begin{bmatrix} \cos \alpha & 0 & -\sin \alpha \\ 0 & 1 & 0 \\ \sin \alpha & 0 & \cos \alpha \end{bmatrix} \rightarrow \textcircled{2}$$



① & ② ⇒

LHS = RHS
 $(F(x))^{-1} = F(-x)$ மேலே நிரூபிக்கப்பட்டது
 Hence proved.

24 a)

$$\begin{aligned} 2x + 3y + 5z &= 9 \\ 7x + 3y - 5z &= 8 \\ 2x + 3y + \lambda z &= \mu \end{aligned}$$

- (i) (no solution) (no solution)
- (ii) (unique solution) (unique solution)
- (iii) (Infinitely many) (Infinitely many)

Sol:

$$[A, B] = \begin{bmatrix} 2 & 3 & 5 & 9 \\ 7 & 3 & -5 & 8 \\ 2 & 3 & \lambda & \mu \end{bmatrix} \quad \begin{array}{l} 14 \ 6 \ -10 \ 16 \\ \underline{14 \ -21 \ -35 \ 63} \\ 0 \ -15 \ -45 \ 49 \\ \underline{14 \ 21 \ -35 \ 56} \end{array}$$

$$\sim \begin{bmatrix} 2 & 3 & 5 & 9 \\ 0 & -15 & -45 & -47 \\ 0 & 0 & \lambda-5 & \mu-9 \end{bmatrix} \quad \begin{array}{l} R_2 \rightarrow 2R_2 - 7R_1 \\ R_3 \rightarrow R_3 - R_1 \end{array}$$

(i) $\lambda = 5, \mu \neq 9$

$\rho(A) = 2, \rho(A, B) = 3$
 $\rho(A) \neq \rho(A, B)$
 # (no solution) (no solution)

(ii) $\lambda \neq 5, \mu \neq 9$

$\rho(A) = \rho(A, B) = 3$
(unique solution) (unique solution)

(iii) $\lambda = 5, \mu = 9 ; \rho(A) = \rho(A, B) = 2 < 3$

(Infinitely many solution) (Infinitely many solution)

SPB

DATE:

24 (b)

$$\left(\frac{19-7i}{9-i} \right)^2 + \frac{20-5i}{7-6i}$$

Soln:

$$\frac{19-7i}{9-i} \times \frac{9+i}{9+i} = \frac{19(9)+19i-63i+7i^2}{81-i^2}$$

$$= \frac{171 - 82i - 7}{81+1}$$

$$= \frac{164 - 82i}{82}$$

$$= \frac{82(2-i)}{82}$$

$$= 2-i$$

$$\frac{20-5i}{7-6i} \times \frac{7+6i}{7+6i} = \frac{140 + 120i - 35i^2 - 30i^2}{49+36}$$

$$= \frac{170 + 85i}{85}$$

$$= \frac{85(2+i)}{85}$$

$$= 2+i$$

$$z = (2-i)^2 + (2+i)^2$$

$$\bar{z} = (\overline{2-i})^2 + (\overline{2+i})^2$$

$$= (2+i)^2 + (2-i)^2$$

$$= z$$

$\therefore z$ is a real.

Prepared by
A. Ravichandran
PG. Best. Maths



SPB

DATE:

25(a) Sol:

$$\frac{z-1}{z+1} = \frac{x+iy-1}{x+iy+1}$$

$$= \frac{(x-1)+iy}{(x+1)+iy} \times \frac{(x+1)-iy}{(x+1)-iy}$$

$$= \frac{(x^2-1) - iy(x-1) + iy(x+1) - i^2 y^2}{(x+1)^2 - y^2}$$

$$= \frac{x^2-1 - iyx + iy + ixy + iy + y^2}{(x+1)^2 + y^2}$$

$$= \frac{(x^2+y^2-1) + i2y}{(x+1)^2 + y^2}$$

$$\arg \left[\frac{z-1}{z+1} \right] = \tan^{-1} \left[\frac{2y}{x^2+y^2-1} \right] = \pi/2$$

$$\frac{2y}{x^2+y^2-1} = \tan \frac{\pi}{2}$$

$$\frac{2y}{x^2+y^2-1} = \frac{1}{0}$$

$$x^2+y^2-1 = 0$$

$$\therefore \boxed{x^2+y^2 = 1}$$

Hence proved.

Prepared by
A. Ravichandran
PG Asst maths

(b) Sol:

$$z^3 + 27 = 0$$

$$z^3 = -27$$

$$= 3^3(-1)^3$$

$$z = 3(-1)^{1/3}$$

$$z = 3[\cos(2k\pi + \pi) + i\sin(2k\pi + \pi)]^{1/3}$$

$$= 3 \left[\cos \left[\frac{2k\pi + \pi}{3} \right] + i \sin \left[\frac{2k\pi + \pi}{3} \right] \right]$$

$$k = 0, 1, 2.$$

$$k=0, z = 3 \left[\cos \frac{\pi}{3} + i \sin \frac{\pi}{3} \right]$$

$$k=2,$$

$$z = 3 \left[\cos \frac{5\pi}{3} + i \sin \frac{5\pi}{3} \right]$$

$$k=1, z = 3 \left[\cos \frac{3\pi}{3} + i \sin \frac{3\pi}{3} \right]$$

$$= -3$$

SPB

DATE:

26(a) Question wrong: $x^4 - 14x^2 = 45 = 0$
 correct Question is

$$x^4 - 14x^2 + 45 = 0$$

$$\text{put } x^2 = y$$

$$y^2 - 14y + 45 = 0$$

$$(y-9)(y-5) = 0$$

$$y-9=0$$

$$x^2 - 9 = 0$$

$$x^2 = 9$$

$$x = \pm 3$$

$$y-5=0$$

$$x^2 - 5 = 0$$

$$x^2 = 5$$

$$x = \pm \sqrt{5}$$

$$\begin{array}{c} 45 \\ \wedge \\ 9 \quad 5 \end{array}$$

26(b) sol:

$$\begin{array}{r|rrrrrr} \frac{1}{3} & 6 & -5 & -38 & -5 & 6 \\ & 0 & 2 & -1 & -13 & -6 \\ \hline 3 & 6 & -3 & -39 & -18 & 0 \\ & 0 & 18 & 45 & 18 & \\ \hline & 6 & 15 & 6 & 0 & \end{array}$$

$$6x^2 + 15x + 6 = 0$$

$$x = -2, -\frac{1}{2}$$

$$\begin{array}{r} 36 \\ \wedge \\ \underline{2 \quad 12 \quad 6} \\ 6 \quad 6 \quad 2 \end{array}$$

∴ The roots are $\frac{1}{3}, 3, -2, -\frac{1}{2}$.

∴ The roots are, (ignoring 15) $\frac{1}{3}, 3, -2, -\frac{1}{2}$

Prepared by: A. Ravichandran
 Pk. Asst Maths